






The model
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Normalizations-continued









TheLinearProbabilityModel-LPM-continuedTheLPMcangetsignswrong.SupposeD= I
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, true coe¢ cients are all 1.

T = binary treatment indicator,
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ControlFunctionEstimation-CF
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ControlFunctionsandGeneralizedResiduals

Cancontrolfunctionseverbeusedwhentheendogenousregressoris

discrete?Yes,but...

Givenaprobitestimateoftheendogenousregressor,itissometimes

possibletoconstructa"generalizedresidual,"
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SpecialRegressor(SR)Estimation-overviewcontinuedWithD=I(a+V+#�0),couldestimateE(D
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Simultaneity, Coherence, and Completeness - continued










